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Reasoning for RRB NTPC 24th November (Questions) 

 
 
S1. Ans.(d); 
Sol.  
Neither I nor II follows 
 
S2. Ans.(d); 
Sol.  

 
 
S3. Ans.(c); 
Sol.  
R → 3, O →4 , T → 9, E → 7   
 
S4. Ans.(b); 
Sol.  
(4 × 3) + 5 = 17 
(8 × 2) + 4 = 20  
Similarly, (5 × 3) + 5 = 20  
 
S5. Ans.(b); 
Sol.  
 
S6. Ans.(c); 
Sol.  
 
S7. Ans.(d); 
Sol.  
 
S8. Ans.(d); 
Sol.  
 
S9. Ans.(a); 
Sol.  
Rails are not made of wood.  
 
S10. Ans.(b); 
Sol.  
Symphony is creates by composer, Similarly Fresco is created by painter. 
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S11. Ans.(c); 
Sol.  

 
 
S12. Ans.(d); 
Sol. 
Sunita has a very busy schedule. This means that she is Industrious. But still she finds time for rest. This, 
means that she is an organised person. So, both I and II follow. 
 
 
S13. Ans.(d); 
Sol.  
Except (d) all other are regular items found with student.  
 
S14. Ans.(b); 
Sol.  

 

 
 
S15. Ans.(a); 
Sol.  
 
S16. Ans.(d); 
Sol.  
 
S17. Ans.(b); 
Sol.  
 
S18. Ans.(c); 
Sol.  
Except figure ‘3’. All other have arrow in clockwise direction.  
 
S19. Ans.(d); 
Sol. 
When the Government takes such an action it is necessary that people 
are made aware of the consequences they would face if they do not obey 
the directive. Hence II follows. I is obvious. 
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S20. Ans(c) 
Sol. 
Against an epidemic, precautionary measures should be taken every year and 
not every four years. Hence I does not follow. II is not a preventive action 
against conjunctivitis. Hence II also does not follow. 
 
S21. Ans.(c); 
Sol.  
7 April to 14 August = 23 + 31 + 30 + 31 + 14 = 129 days  
129/7 = 3 odd days  
So, 14 August = Monday + 3 = Thursday.  
 
S22. Ans.(a); 
Sol.  
+3 pattern  
 
S23. Ans.(c); 
Sol.  
No. of students = 30  
 
S24. Ans.(d); 
Sol.  
Except (d), all other have a 90 degree angle between both hands. 
 
S25. Ans.(c); 
Sol.  
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